Multiply by 10 (E)

Find each product.

14 x 10 = 56 X 10 =
71 x 10 = 67 X 10 =
76 X 10 = 2x10=
4x10= 17 x 10 =
48 X 10 = 6 X 10 =
79 X 10 = 72 X 10 =
16 x 10 = 46 X 10 =
39 x 10 = 57 X 10 =
25 %10 = 77 X 10 =
79 X 10 = 45 x 10 =
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Multiply by 10 (E) Answers

14 x 10 =140

71 x10=710

76 X 10 =760

4 x10=40

48 x 10 =480

79 x 10 =790

16 Xx 10 =160

39 x 10 =390

25 x 10 =250

79 x 10 =790

Find each product.

56 X 10 =560

67 x 10 =670

2x10=20

17 x10=170

6 Xx10=460

72 x10=720

46 X 10 =460

57 x 10 =570

77 Xx10=770

45 x 10 =450
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